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���� �������� �D > ���

ut = Duxx , (x , t) ∈ R× (�,∞),

u(x , �) = g(x) x ∈ R.

����������� �������� �g(x) = δ(x)��

��� �� ���� � ����� ������



������� ��� ��� ���� ��������

���� �� ���� ������� ��� ��� ���� ���������

�������� ������

�������� ������



��� ������� �������� �� �������� ����� ��� ���� �����
��� λ = Dht/h

�
x �

uk,�+� = uk,� + λ(uk+�,� − �uk,� + uk−�,�).
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−� ≤ �λ(cos(ϕ)− �) ≤ �.
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��� λ = Dht/h

�
x �

uk,�+� − λ(uk+�,�+� − �uk,�+� + uk−�,�+�) = uk,�
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ut + f (u)x = �,

����� u �� � �������� �� x ��� t ∈ R+
�

�

������� �� �������� �����

������� �������������� ������ � �������� x(t) �� ���� u(x(t), t) = u(x�, �)�
�

�x(t)
�t = f �(u(x(t), t)),

x(�) = x�.
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x
= �,

u(x , �) = g(x) = sin(x).
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a
u(x , t)�x = f (u(a, t))− f (u(b, t))
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��������� ��� C � �������� ��������� �� � ����� x(t) ���� �� �����������


